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1. If a = 56,784, b = 29,509 and c = 43,337, then what will be the sum of all the 

three numbers? 

 

 

2. A factory manufactures 653,908 black cars, 231,009 white cars and 100,220 

blue cars in year 2013. How many cars did it make during that year? 

  

 

3. According to a survey, 23,000 babies were born in a hospital last year and 

26,895 babies are born in this year. How many babies are born in the hospital 

during these two years? 

 

4. The total population of city X is 420,555, the total population of city Y is 

374,009 and city Z has 117,340 people living in it. What is the total population 

of all the cities?  

 

 

5. My dad had $76,231 saved in his bank account. He deposited $22,120 last 

month and another $20,550 this month. How much money does he have in his 

bank account now? 

 

 

 

Addition  

WORKSHEET#5 

Solve the following word problems. 
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1) 129,630 

2) 985,137 

3) 49,895 

4) 911,904 

5) $ 118,901 

 

 

 

ANSWERS 


